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01.

The
(1)
()
3)
4)

SECTION - 1
ENGLISH

Choose the incorrect options.

clock shows the time
quarter to 5

three quarters past 4
two quarters past 5
45 minutes past 4

02. Choose the proper punctuation mark in the end of the sentence.

‘That's an excellent idea [’
(H ?
(3)

Select the correct option.
We should cut our hair
(1) hardly

(3) terribly

Instructions for Q. 04 and Q. 05
L/’\V\\\Fresh Fruits

e Megetables
/\.\_“/\\../FO From Daisy’s shop

@
4) !
03.

)
4)

regularly
recently

» healthy » juicy ") tasty
}*‘”"\ - \w . ‘$ . -
\;-n Fruits and Vegetables é‘x
59, Mint Street, r
g Wi Trichy

SPACE FOR ROUGH WORK
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04. Fill in the blank with correct option.

This advertisement is based on

(1) fruits and meat (2) vegan and diary

(3) fruits and smoothie (4) vegetables and fruits
0S. Select the motto for the advertisement.

(1) Health is Wealth (2) Truth is Gold

(3) Green and clean Earth (4) Never stop learning
06. Choose the correct alternative for the given sentence.

‘hooray! teacher, we want to play kho-kho’.

(1) Capital ‘H’ for hooray

(2) Capital ‘T’ for teacher

(3) Capital ‘W’ for we

(4) Capital ‘H’ for hooray and Capital ‘T’ for teacher
07. Choose the correct pair from the given alternatives.

(1) A flock of bees (2) A flock of geese

(3) A bundle of children (4) A swarm of dogs
08. Pick out the missing colour of a ‘rainbow.’

Red, Orange, Yellow, Green, Blue, and violet.

(1) Indigo (2) White

(3) Pink (4) Purple

SPACE FOR ROUGH WORK

0102-Marathi Set-A 30f32 P.T.O.



09. Choose the correct contracted form of the underlined words in the given sentence.
‘l am not interested.’
(1) aren't (2) ain't

(3) am't (4) arent'

10.  Fill in the blank.

‘France is European country.’
(1) an (2) the
3) a (4) no article

11. Observe the diagram carefully and find the

answer from the alternatives.

Fold the paper in the direction.
(1) South
(2) Upward

(3) South West

(4) Downward

12.  Which of the following is a permission?
(1) You are welcome (2) 1 drink water

(3) Please come in (4) Don't make noise

SPACE FOR ROUGH WORK
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Instructions for Q. 13 to Q. 15 :
Read the passage carefully and answer the following questions.

A dictionary is a must for a student. You can begin with simple, attractive
dictionaries and then learn to use the more difficult ones later. So, the next time
you come across a difficult word, don’t fret. Just look it up in a dictionary.

13. What 1s a must for a student?
(1) A diary (2) A muster
(3) A library (4) A dictionary

14. Find the opposite word for ‘Easy’.
(1) Weak (2) Just
(3) Difficult (4) Across

15. Fill in the blank with correct alternative.

One can begin with , dictionaries.
(1) simple , attractive (2) simple , difficult
(3) must , next (4) more , fret

16.  Match the correct instructions
from the given alternatives.

(1) 1-A, 2-B, 3-C
(2) 1-C, 2-A, 3-B
(3) 1-B, 2-A, 3-C

4) 1-C, 2-B, 3-A

SPACE FOR ROUGH WORK
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17.  Fill in the blanks.

Joseph has a brand bicycle.
(1) knew (2) new
(3) now (4) no

18.  Select the rhyming word for the correct action word from the given table.

dig | bib

tar fin
(1) far (2) rib
(3) fig (4) bin

19.  Fill in the blank.
, no ! My mobile is ringing.
(1) Alas (2) Oh
(3) Brave (4) Ouch

20. Choose the correct ordinal number for ‘December’.
(1) Tweltth (2) Twelvfth
(3) Twelfth (4) Twelve

21.  Find the shape of dice used in ‘Ludo’ game from the given alternatives.

(1) cuboid (2) cube
(3) sphere (4) cone

SPACE FOR ROUGH WORK
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22,

23.

24.

25.

Look at the chart and find the correct option.

Leg
I I | I |
Heel Knee Thigh ?
(1) Fist (2) Stomach
(3) Jaw (4) Toes

How will Salim greet Vandana on her birthday?
(1) Happy birthday! (2) Congratulations!
(3) Best of luck! (4) Rest in peace!

Solve the riddle.
I can help you to heat

and cook different types of food.

Who am [?
(1) Microwave (2) Blender
(3) Refrigerator (4) Chimney

Arrange the numbers to make meaningful word.

N I O|D|A|R| S | U
1 2 3 4 5 6 7 8

(1) 42153687 (2) 42137586
(3) 76853124 (4) 68753421

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

SECTION - II

INTELLIGENCE TEST

26. In a row Sameer is at twenty third position from front and nineteenth position
from back. What is the position of Raj from back, who is standing at 5™ place
behind the middle position boy?

(1) 16t (2) 28t (3) 13t (4) 27h
27. In the given path while walking from ‘A’ to ‘B’ C
how many times will you face the north direction?
(1) 2 B
2) 3
3) 5
4) 6 -A

North H—

28. Some birds are sitting on tree ‘A’ and some birds are sitting on tree ‘B’. If
one bird from tree ‘A’ went on tree ‘B’ then the number of birds on tree ‘B’
will be twice the number of birds on tree ‘A’ and if one bird from tree ‘A’
will go on tree ‘B’ then the number of birds on both the trees will be equal.
Now initially how many birds were sitting on tree ‘A’ and ‘B’ respectively.

(1) 3,5 2) 7,5 3) 5,7 4) 5,3

Q. 29 to Q. 33 Direction:

In the following questions, first pair has some relationship between first two
terms. The same relation holds true for the second pair. Identify the relation
and select the correct alternative to replace the question mark.

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

26.

27.

28.

faum - 1
giguan =it
TH T FHRET GEAAIE ddEEn 9 3aed ThIvTET  ShETeh  STHedH
YT YATAT W S A1 AR FHUTA TS Iagd Fhad ToH 318d ?
(1) 16 @ () 28 4 (3) 13 4 4) 27 4

qiede Arieed A’ fowomed B fosf - C
qg=dMT fhdidsT 3cdishe die Isd ?

(1) 2

[ Yus)

2 3

3) 5

4) 6

<A

IH &—F—

‘A’ TeeR wEl 9sft 9 ‘B’ EeR wEl Ust dEeid 3MEd. SROA Heed
wF usll ‘B’ #@eEdial usAmed Tan; X B’ #SEdal Usl e BIdiA ST
‘B meeld th uefl ‘A’ deeR TeuE dl greiedla 9sft @He el
W geEardiem ‘A’ @ ‘B’ @R AgkH fohdt uaft g e

(1)y 3,5 2 7, 5 3) 5,7 4) 5, 3

9T . 29 ° 33 Wit g -

qfgedl el gEAT YR Sl WeY 3TR; qWra Hew fow=an ugqen =iear gereh

AR, B AU USH THCTErA W AR ug @i e

THeedT HTHTETS! Wokd
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ABCDE|F GHTIJ| KLMNO|PQRST|UVWXY
29. Cool : hot :: strong : ?

(1) brave (2) thin (3) week (4) weak

30. Shyamchi Aai : Sane Guruji :: Wings of fire : ?

(1) Jayant Naralikar (2) Dr. APJ. Abdul Kalam
(3) Pranav Mukherji (4) Dr. Homi Bhabha
31. 37 :40 :: 25:7
(1) 19 2) 27 3) 21 4) 30
32. 14 :15 :: 32:7?
(1) 35 (2) 42 3) 31 4) 18

33.  Question Figures:

VIAO LY |,
B & | @@. ?

Answer Figures:

ol < S0
O || &) losd || o

(1) (2) 3) 4)

SPACE FOR ROUGH WORK
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ABCDE|F GHTIIJ| KLMNO|PQRST|UVWXY
29. Hg : ME : WMawa : 7

(1) 3 (2) S (3) H= 4) 3
30. WEE AR HEESH o TG

(1) ¥ RS (2) T THS. IegA wAW

(3) YUE g@sit (4) sf. B am
31, 37 : 40 25 : 7

(1) 19 (2) 27 (3) 21 4) 30
32 14 : 15 = 32 : 7

(1) 35 2) 42 (3) 31 4) 18
33.  OSATRET:

v

A

_ﬁ@@:

IeaAX AT :

vl < G|
O | &l |of ]| B9

HeHT HIHTETST Ward
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

34.

3s.

36.

John, who is born on 5™ January 2001 Friday, is 100 days elder to Shanaya
then on which day was Shanaya’s first birthday?

(1) Thursday (2) Tuesday (3) Wednesday  (4) Monday

Select the number to replace the question mark in the given grid.

751 7 |25
18 33|63
?7 152112

(1) 46 (2) 42 (3) 35 (4) 48

In a certain code language if 25 = 532, 57 = 725 and 34 = 413 then how
will you write 14 in the same code language?

(1) 314 (2) 451 (3) 431 4) 514

Q. 37 and Q. 38 Direction:

37.

Identify the figure which exactly matches with the question figure from the
four alternatives given below.

Question Figure: Answer Figures:

(1) (2) (3) 4)

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

34. 5 IHERI 2001 &1 IEHAT FHo@l M SEREMET 100 fesae @ier R, ®
AR Ufgel aTeicad v ail el 3TEe ?

(1) T&EaR (2) WTBdR (3) FHAR (4) HHaR

35. WidAld <hHd Y=gl SFfl hIvdl G%aT Isd ?

751 7 |25
18133 |63
? 15212

(1) 46 2) 42 (3) 35 4) 48

36. U1 Hiehfdeh WG 25 = 532, 57 = 725 3mfr 34 = 413 3@ fafgam;
T IR Hihides 9N 14 & & w3t foga?

(1) 314 ) 451 (3) 431 4) 514

U . 37 9 38 W@ gIAT -
Glelia TR el qalad eV STehd] GG ST

37. UEATRdl : el ATheAT :

(M ) 3) 4

THeedT HTHTETS! Wokd
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

38.  Question Figure: Answer Figures:

(1) (2) (3) “4)

39. In the given Venn diagram numbers indicate the students in the school who
like the activities like Dance, Drama and Music. How many students like at
least two activities?

< Dance

Music —— pa
<—— Drama

(1) 59 2) 33 (3) 46 4) 20

Q. 40 to Q. 44 Direction:

In each of the following questions three terms are given with some common
relation. So their group is formed. Select the correct term from the alternatives
given which has the same common feature of the given group.

40. Storm, Tsunami, Flood
(1) Rain (2) Accident (3) Famine (4) Ocean

SPACE FOR ROUGH WORK
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

38.  TEATHAL :

(M ) 3) “

39.  HETAT A TH AMBAA Jod, e M qed A A IES ST
e ifaell 3R, AEEd TR G &Ed STaS U= HeAr fomdl ?

D

Y.

(1) 59 2) 33 (3) 46 4) 20

T . 40 o 44 WA gEAT -
el JeATdd o1 qgren Tept fafire Ifmeargar th e @R g[l. O afdmses
AT B TR SR Ug qEEgd et

40. TGS, YA, HER
(1) ud (2) 3Uu| (3) Tl (4) HEMENR

THeedT HTHTETS! Wokd
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ABCDE|F GHTIJ| KLMNO|PQRST|UVWXY
41.  Potter, Carpenter, Doctor

(1) Wood (2) Medicine (3) Study (4) Tailor

42. 9@31)5,7 (17 4,8 (13) 3
(1) 8 (26) 5 2) 7(23)5 3) 7 (17) 3 @) 6 (20) 2

43. 18 27 36

42 ° 63 ° 84
24 51 30 72
1 55 @) 119 3) %o @ 1720

44. Question Figures:

AN TN2) JHB| | 2

Answer Figures:

AN Y

(1) ) 3) 4

45. In a certain code language if [3, 4] [%] = 26, [1, 3] [%] = 23 and

[2, 5] [%]247 then in the same code language how will you write [2, 7] [%]‘?
(1) 52 2) 20 3) 42 4) 62

SPACE FOR ROUGH WORK
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ABCDE|F GHTIIJ| KLMNO|PQRST|UVWXY
41. foom@, wa@, S
(1) ofiwedt (2) dva (3) T (4) dml
4. 9315, 7174, 8(13)3
1) 8(26)5 2) 7(23)5 G3) 7(17)3 @) 6(20)2
43. 18 27 36
42 > 63 » 84
m % @ Ty 3 o0 Ot
44, T
IR ST
S >
(1) (2) €)) 4)
5w wefo wRa [3, 4] [2] = 26, [1, 3] [F] = 23 s 2, 5] [§]=47
8 fafed@; @ <=9 Gibfos wma [2,7][%]%%@%1%1?{?
1) 52 @) 20 G3) 42 4) 62
Heedl HIHETST Tad
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ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY

46.

47.

48.

49.

Statement A : Sourabh is 17 years old and he is three years younger than Seema.
Statement B : Sharayu is younger than Sharad, her age is 21 years.

Select the correct conclusion of statement A and B from the given alternatives.
(1) Sharayu is younger than Sourabh by 4 years.

(2) Sharad is younger than Seema.

(3) Seema is 14 years old.

(4) Sourabh is youngest in all of them.

In a certain code language if COW = 274, CAT = 684 and WET = 825 then
in the same code language how will you write GOAT? [The order of letters
and numbers may not be one to one.]

(1) 4768 (2) 7186 (3) 8765 4) 1785

In the following question select the correct alternative to replace the question mark.

A o 2

(I 5 2 4 3) 3

Observe the table of alphabets and signs and
find the word opposite to ‘Good’.

A B C D E F G

Al DO| ® |+ ° I \
(1 OA+ 2) A+
3) e [+ 4 Oe®

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ|IKLMNO|PQRS ST

UvwXyY

46.

foam @ (1) WR9 17 auien oy Human dF auift @M IR,
(9) IRY INSUem oM orgd fod @@ 21 a9Y MR

IETET GIATAUshl VA 3THh TIAH Had d gaiEesd Hivea &4,

(1) Y HRYUAT IR Il @gH 378,
(2) e HHNen dEE IAR.

(3) "WHE ¥ 14 S§ R,

(4) 9T T dAEH HRY ITR.

47. TUHl Hihfas WA COW = 274, CAT = 684 3mot WET = 825 3M
fafga, @ = debfdes 9™d GOAT & e hEl g ?
(AT A& 9 IhiaT A AR@l FHa™ 3 AElL)
(1) 4768 ) 7186 (3) 8765 @) 1785
48. Widld Y YHf-gr=al It i) 9@ Asa ?
(1 5 2 4 3) 3 4 1
49. q T [ ED El g T | S | AT [T Jdret
+ - ) A O v [ ] = * @ X
T deRATda AR, Fag AT IR HEA TeHT AT vegrEn fawgufenft weg
a1 forgre ?
1) +# @ e x 2) O A []x
B3 - v A X 4 -v A=+
hHeedT HTHTATS! ekd
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50. How many quadrilaterals are there in the given
figure.

(1) 60
2) 30

3) 33 //\\
o AR

1.
> 5

1 2 3 4
6

Observe the given figure. When figure is folded on lines then which of the
following cube is not formed?

K A N e W

(1) 2 3) “4)

52. In the given series, select the correct alternative to replace the question mark.

INOOS , OO0/, OO, ?
m NOO @ NOOOD
ORGP YANSTA @ NN\ OO

SPACE FOR ROUGH WORK

0102-Marathi Set-A 20 of 32 Contd...



ABCDE|FGHTIJ|IKLMNO|PQRS ST|UVWXY LUE

50. GiEdedl bl STl @ fohdl MR 7 gl
(1) 60 gl

2) 30 £

oo AN
o AR B!

51.

._.
)

P oy | W |,
o

Al 3MMhdl 3edh WAL GHGA TF TAR hodld WIAAdehl ShIUTdl  EHTehdl
TN R TR 7
1 1 1 3

(1) 2 3) (4)
52. WA o= Aifciehd  YeAfomgreal S0 A e s fHeet.

INOOS , OO0/, OO, ?
n NOOD @ NOOOD
® (/AN OO CHAYAXSIs

HeHT HIHTETST Ward
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53.

54.

Identify the pattern of numbers in the series and select the wrong term.
3, 1, 6, 7, 10, 26, 15, 63, 21
(1) 1 2) 7 3) 15 4) 21

Varsha was facing the setting sun, she turned at 135° twice to her right side
and went straight in her house then in which direction is the door facing?

(1) South (2) South-East (3) North (4) North-East

Q. 55 and Q. 56 Direction:

5S.

56.

57.

In each question a problem figure is held vertical above water surface. Identify
its water reflection and select the correct alternative.

Question Figure: Answer Figures:

(1) 2) 3) 4)
Question Figure: Answer Figures:

(D 2) 3) 4

Which of the following is the correct example of homophone?
(1) Seek - sick (2) Ship - sheep (3) Two - to (4) Ate - at

SPACE FOR ROUGH WORK
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53. Wdid TEIMIAhdd Tea O s gieen 3ed. 9 H9 d9d g3H
A qoblel UG 3TN

3,1,6,7,10, 26,15, 63, 21
1) 1 2) 7 3) 15 4) 21

54, TESE A THERR HOR I 135 STWNI ¢ 9B I9Ehe d@d o
Wes TUd YAV hall, X T YAUGER v foum om@e?

(1) gfeqor (2) I (3) Ik (4) =

U3 k. 55 F 56 @Idt @Al -
Grefid TeAThdie I Ufdfos wRf IR SAehcamyd faet.

55.  OEATHd! : Il ATRAT :
(D (2) 3) 4)
56. ST : el AThAT :
(1) (2) (3) (4)
57. WieicdUeh! SISl TaAAT 62 HivT?
(1) 31eW (2) TR (3) T 4) =

THeedT HTHTETS! Wokd
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58.

59.

60.

Read the poem carefully. Find out how many more or less three letter words
than the 7 letter words are there in the poem.

‘Twinkle Twinkle little star,

how I wonder what you are?

up above the world so high,
like a diamond in the sky.

(1) More by 3 (2) Less by 3 (3) Less by 2 (4) More by 4

ABCDE FGHIJ KLMNO PQRST UVWXY

In the above given alphabet series which of the given pair of alphabets indicate

the difference % times the difference between letter ‘H’ and letter ‘R’.

() D-N 2) K-W 3) M-X 4 E-R

In the given number series the digits of every number are interchanged to form
a new series. What is the addition of the prime numbers in the new series?

13 , 9 , 17 , 53 , 37 , 76 , 19 , 41

(1) 180 2) 301 (3) 300 4) 181

Q. 61 to Q. 65 Direction:

61.

62.

63.

Select the odd term.

(1) House (2) Planet (3) Cottage (4) Home
(1) 54 (2) 78 (3) 66 4) 36
(1) 192 (2) 312 3) 732 4) 726

SPACE FOR ROUGH WORK
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58.

59.

60.

GTofld hred Yadld 3T-hId  IeQMeT $3-hid Wear=l &@ fohdld il 3R
S 3R ?

frran gt wRawTd

st @ fo=ht g,

T AMS T S

T e @ Hall
(1) 2 9 I/ (2) 3 9 & (3) 2 9 HH (4) 3 9 S

ABCDE FGHIJ KLMNO PQRST UVWXY

T0d Fe@feAshd H fr ‘R’ I T8 ST AT T
%%aﬁ@ﬁaﬁ%ﬁmﬁam‘cﬂa?

() D-N 2) K-W (3) M- X 4 E-R

Wl I Ishdid Jcdeh EAdld SThi=dl TIMNET  Aedleed hed  dar
B HEAl geder Sie fhdt AEa?

13,95 , 17 , 53 , 37 , 76 , 19 , 4l
(1) 180 ) 301 (3) 300 4) 181

I9T . 61 o 65 WISt TEAT -

61.

62.

63.

Ted 7 SHUR UG SABEd A=Al W AT age Ul

(1) &m 2 U= (3) S (4) ¥
(1) 54 2) 78 (3) 66 4) 36
(1) 192 2) 312 (3) 732 4) 726

THeedT HTHTETS! Wokd
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64.
B
—

(1) 2 €) (4)
S —

]
(1) 2) 3) 4)

66. Rahim’s todays age is twice of Ram’s todays age and % times John’s todays

age. If three years ago Ram’s age was 9 years then what is the sum of todays
age of all three of them?

(1) 60 (2) 51
(3) 54 4) 58
67. In a certain code language if Tiger is called as Lion, Lion is called as Shekaru,

Shekaru is called as Deer, Deer is called as Elephant then who of the following
i1s called as Maharashtra’s state animal?

(1) Tiger (2) Lion
(3) Shekaru (4) Deer

SPACE FOR ROUGH WORK
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64.

6S.

66.

67.

2RC

[ (
(1) @) 3) 4)

(1)

WA AN g9 THAT IASEAl SATeAl e A Sl TSl el
T W AR T A awiqe w9 o ee; @ en fesen s g

09 fopdt a9 3@ ?
(1) 60 (2) 51
(3) 54 4) S8

T O TSI HIoTH  TEuId ?

(1) = Q) f=
3) HE (4) =i
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68. In the adjacent figure how many triangles
are there?

(1) 12
2) 11
3) 8
4 9

Q. 69 to Q. 71 Direction:

Identify the sequence in the given terms / figures and select the correct alternative
to replace the question mark.

69. 841, ? , 361, 289, 169, 121

(1) 729 (2) 441 (3) 625 4) 529
70. 91, 82, 74, 67, ? , 55, 50, 45
(1) 61 (2) 58 (3) 62 4) 57
71.  Question Figures:
o
= L] <)
o e
Answer Figures:
/I\ o P T o/]\ o
(1) ) 3) 4)

SPACE FOR ROUGH WORK
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68. WEA IAhdd THU Tohd Brepor 3TmEd ? Fr
() 12 Fie
(2) 11 3L
3) 8 3

4) 9 e

T . 69 o 71 WISt gIAT -
Glelid Ugr=l 3hH A& U SRArEEredl SR AUR Ug R ee
69. 841, 7, 361, 289, 169, 121

(1) 729 (2) 441 (3) 625 4) 529
70. 91, 82, 74, 67, 7?7, 55, 50, 45
(1) 61 (2) 58 (3) 62 4) 57
71. A ATHAT:
i
—> l < ?
] ]
ECICIRLE
R
(1) 2) (3) 4)

THeedT HTHTETS! Wokd
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Q. 72 and Q. 73 Direction:

72.

73.

74.

7S.

Find out the mirror image of each of the following question figure from the
alternatives given.

Question Figure: Answer Figures:
@ [ o
o o
(1) 2) (3) 4)
Question Figure: Answer Figures:
1) ) (3) (4)

If your friend misbehaves in front of everyone then what will you do?
(1) T will beat him there itself.

(2) I will breakup the friendship.

(3) I will dishonour him amongst friends.

(4) T will explain him properly about why he should not misbehave.

The school gives you the responsibility of the section, where you have never
worked then what will you do?

(1) I will insist to get the work changed.

(2) I will try to understand the method of that work and try to do it efficiently.
(3) If my work is not changed then I will misinterpret their behaviour.

(4) T will accept the responsibility without understanding the work.

SPACE FOR ROUGH WORK
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U ®. 72 F 73 W& gIAT - Bale
Tl TeAThd = TR UfemT vl Icat Ameheaimyd e R

72,  UEATRH : el TR : B

° ° ° Lo

(1 2 3) (4)
73.  UEATHAT : el ATRAT :

/63 \dE B\ B3\ Bd\

(1) (2) 3) 4)
74, g AW FAEHR 9 AEEUR dad hal; X qREl I U ¢
(1) 99 Il ORI,
(2) =t W= drer.
(3) feme ot gt wua.
(4) Taad HE THE W A Al GUSE AL

75. WA Rl HETEl M A holedl [IWTTRN SEEER! qERAER divdet; Rl
(1) M Fce[ <uaTel 3AWE .
(2) HEE WEIT FHAGT USA o HE A HOIAET TIA B
(3) %W ¥ed A W EsK TEH.

(4) HME WEIT ST T YAl TEEGRI TR,

THeedT HTHTETS! Wokd
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